SR04 RSN E R ATEA SR (TH)
T ST MK EER A BN B 2 —

mooE R B B AT
1. B8 (&1 5 R 86 BLAIE)
¥ &I (CC) % 7K & (mm) H BE O fE (h)
ARAF AR 7 AR AR 7= A4 AR 7=
A 26.2 25.0 +1.2 25.0 66.8 -41.8 68.9 56.6 | +12.3
A) 28.5 26.3 +2.2 11.5 53.9 -42.4 87.6 56.9 | +30.7
T A — 27.4 — — 40.7 — — 83.2 —
II. JFEADELELRN
(@ E)
Ho A x|
B[ i, /s B it A 7/7-8+9
540 R R BB K T AT FE S
. - /L WEHEBAEO
= il s PN
Wﬂ_ =] E Zl s } EF‘ % % IIIDI i}/%%z(%) %é E 0) %1&
1 Y 13 H 18 1 0 0 0 19 5.3 % W 0.1 1.3
( ® # % 5 ) 10 1 0 0 0 11 9.1 0.1 2.3
( ™ ;o) 2 0 0 0 0 2 0.0 0.0 0.0
( & W = ) 6 0 0 0 0 6 0.0 0.0 0.0
e ik 99 16 3 0 0 0 19 158 % 5 1.0 3.9
C ® # % 5 ) 10 1 0 0 0 11 9.1 0.7 2.3
( ™ ;oo 0 0 0 0 2 0.0 0.0 0.0
( & ® W ) 2 0 0 0 6 33.3 1.8 8.3
= B A A H 19 0 0 0 0 19 0.0 # = B & O: 0.0 0.0
Yy T mowovoh 15 4 0 0 0 19 21,1 B/ Bk EE ) 0.01 5.3
( /B & % = ) 9 2 0 0 0 11 18.2 0.01 4.5
( ;o) 1 1 0 0 0 2 50.0 0.02 12.5
( & & W, ) 5 1 0 0 0 6 16.7 0.01 4.2
NE 4wy oy oh 19 0 0 0 0 19 0.0 H % / Bk (8 ) 0.00 0.0
?f%,f g ﬁﬁ)ﬁ; /ﬁfﬁ) 5 3 3 5 2 18 72.2 %% /20 7 ) (HH ) 13.0 44.4
a 7 ) A A4 K 19 0 0 0 0 19 0.0 # F K = O 0.0 0.0
= 3 W 19 0 0 0 0 19 0.0 % Jm & x 0.0
F OE OB OW 19 0 0 0 0 19 0.0 % JH E  x 0.0
ok #E M oW 19 0 0 0 0 19 0.0 % 9§ B x 0.0
[ PO T 1 19 0 0 0 0 19 0.0 % W K L x 0.0
W 3 W 18 1 0 0 0 19 5.3 % W Bk R x 1.3
% e ] 19 0 0 0 0 19 0.0 % W K L x 0.0
E AR E T Y YA 12 7 0 0 0 19 36.8 25 M H o & Loh ok 9.2
V2w aan( 8 11 0 0 0 19 57.9 25tk 4 v 3 & Lo Mok 14.5
4 %78 0 A AV 19 0 0 0 0 19 0.0 25 Bk M b i % * 0.0
{F vy vt 19 0 0 0 0 19 0.0 25 Bk M v # % * 0.0




FIRE T, NS B T A AE: 7/23-24

I AR B M 4% FE AR FE
i 4, I A nE Y
Boow % H 18 0 0 0 0 18 0.0 % 7 8 R O 0.0 0.0
( B/ & m B 11 0 0 0 0 11 0.0 0.0 0.0
( e 2 0 0 0 0 2 0.0 0.0 0.0
( & wm W ) 5 0 0 0 0 5 0.0 0.0 0.0
e T I3 14 5 0 0 0 19 263 ¥ w 1.5 6.6
( B/ & m B 9 2 0 0 0 11 18.2 0.5 4.5
( o) 2 0 0 0 0 2 0.0 0.0 0.0
( & wm W ) 3 3 0 0 0 6 50.0 3.7 12.5
= B * A4 A 19 0 0 0 0 19 0.0 # & ¥ = O 0.0 0.0
vt vy S om vy oR 12 7 0 0 0 19 36.8 B ¥/ Bk (FH O 0.03 9.2
( /& n B ) 6 5 0 0 0 11 45.5 0.04 11.4
( ™ W) 2 0 0 0 0 2 0.0 0.00 0.0
( & m & ) 4 2 0 0 0 6 33.3 0.04 8.3
[ O A 19 0 0 0 0 19 0.0 ¥/ Bk () 0.00 0.0
?}‘ * *Ej] - A % ﬁ) 15 2 1 1 0 19 21.1 s % /100 & ( B : 1.3 9.2
a 7 ) A AN 19 0 0 0 0 19 0.0 LtHI2FEOBEEE®: 0.0 0.0
= ¥E OO OOW 19 0 0 0 0 19 0.0 ¥ W x 0.0
- T 19 0 0 0 0 19 0.0 % W B x 0.0
ok E M OW 19 0 0 0 0 19 0.0 % ok 0.0
[ S I R | 19 0 0 0 0 19 0.0 % W B F x 0.0
MO R 19 0 0 0 0 19 0.0 % %/ H % = 0.0
* i ] 19 0 0 0 0 19 0.0 % & K H x 0.0
E A bME T Y vod 5 14 0 0 0 19 737 s L Lok s 18.4
Y/ s maan’ 4 9 10 0 0 0 19 52.6 BBV L L d K 13.2
VO - U B BN 17 2 0 0 0 19 105 25 Bk % v % * 2.6
{FEvy ¥t 18 1 0 0 0 19 5.3 25 Bk MW v M B x 1.3
HOERE o TR, AMARTT, BTREE T
FAOE o SRUEMT MERMT

b 7 & AL, BT, & BT




e A 1

T, BTEE TR 7/7-8

TR R B 5 T AR P FE
5 o A I T D
£ AN ) H 30 0 0 0 0 30 0.0 % 0.0 0.0
( K 0 ) 0 0 0 0 6 0.0 0.0 0.0
C Mmoo 0 0 0 0 2 0.0 0.0 0.0
( & & &) 15 0 0 0 0 15 0.0 0.0 0.0
( [} il ) 7 0 0 0 0 7 0.0 0.0 0.0
4 T I3 27 3 0 0 0 30 100 % &/ # R O 0.9 2.5
( K weoo) 6 0 0 0 0 6 0.0 0.0 0.0
C W M &= o) 2 0 0 0 0 2 0.0 0.0 0.0
( 4+ F=o) 12 3 0 0 0 15 20.0 1.9 5.0
( [i] 0 ) 7 0 0 0 0 7 0.0 0.0 0.0
= B A A4 A 30 0 0 0 0 30 0.0 # = #H & 0.0 0.0
vt v or v oA 29 1 0 0 0 30 3.3 %%/ ¥k (EE ) 0.001 0.8
(K weoo) 6 0 0 0 0 6 0.0 0.00 0.0
C W M & o) 2 0 0 0 0 2 0.0 0.00 0.0
( 4 F F=o) 15 0 0 0 0 15 0.0 0.00 0.0
( [i] H ) 6 1 0 0 0 7 14.3 0.01 3.6
[ R G- B A | 30 0 0 0 0 30 0.0 % / B (8 ) 0.00 0.0
f‘f% ék Eﬂf% /ﬁfﬁ) 6 8 3 4 6 27 77.8 % /20 7Y (B 18.1 46.3
nooE K W 30 0 0 0 0 30 0.0 % i\ ok 0.0
I OF OE KM O 30 0 0 0 0 30 0.0 % W % 0.0
#odk E M OW 30 0 0 0 0 30 0.0 % W E  x 0.0
[ S I R | 30 0 0 0 0 30 0.0 % W B F x 0.0
MO R 30 0 0 0 0 30 0.0 % %/ H % = 0.0
* i ] 30 0 0 0 0 30 0.0 % & K H x 0.0
E A bE ST vod 12 18 0 0 0 30 60.0 25 B o Lo K 15.0
Vv maanyg 19 11 0 0 0 30 36.7 25 Ho &Lk 9.2
£ 27 m A Ay 30 0 0 0 0 30 0.0 25 Kk M 0 H ¥ x 0.0
{1 FEvy ¥t 30 0 0 0 0 30 0.0 25 ¥k % v B ¥ * 0.0




FEI T, PTEE THAMFRAS: 7/23-24-25

TR R B 5 T A AR P FE
5 o A I D
£ AN ) H 23 5 2 0 0 30 233 % W JE 3.0 7.5
( K 0 ) 5 1 0 0 0 6 16.7 0.3 4.2
C W M & ) 2 0 0 0 0 2 0.0 0.0 0.0
( & & & ) 11 2 2 0 0 15 26.7 4.1 10.0
( [} il ) 5 2 0 0 0 7 28.6 3.6 7.1
4 T I3 23 4 1 2 0 30 233 ¥ R KR R G 6.5 10.0
(K W) 4 1 0 1 0 6 33.3 10.0 16.7
C W M &= o) 2 0 0 0 0 2 0.0 0.0 0.0
( 4 9 =) 10 3 1 1 0 15 33.3 9.1 13.3
( [i] 0 ) 7 0 0 0 0 7 0.0 0.0 0.0
= B A A4 A 30 0 0 0 0 30 0.0 # E& ¥ % 0.0 0.0
vt v or v oA 11 19 0 0 0 30 63.3 B/ bk (EA ) 0.20 15.8
(K weoo) 3 3 0 0 0 6 50.0 0.06 12.5
C W M o) 1 1 0 0 0 2 50.0 0.16 12.5
( 4 9+ =) 7 8 0 0 0 15 53.3 0.09 13.3
( [i] Hh ) 0 7 0 0 0 7 100.0 0.55 25.0
[ R G- A | 30 0 0 0 0 30 0.0 % / 8 (8 ): 0.00 0.0
(K 0 ) 6 0 0 0 0 6 0.0 0.00 0.0
C Mmoo 2 0 0 0 0 0.0 0.00 0.0
( & & &) 15 0 0 0 0 15 0.0 0.00 0.0
( [} i ) 7 0 0 0 0 7 0.0 0.00 0.0
?i%,f‘ é.'f Z@fﬁ‘ /E;&a) 5 5 5 5 4 24 79.2 %% /20 7 ) (5RO 19.1 47.9
a 7 A A H 29 1 0 0 0 30 3.3 B E OB OE O 0.3 0.8
nooE KW 30 0 0 0 0 30 0.0 % O x 0.0
ZOF OE KM W 30 0 0 0 0 30 0.0 ¥ W B 0.0
#odk E M OW 30 0 0 0 0 30 0.0 % W E  x 0.0
[ S I R | 30 0 0 0 0 30 0.0 % H Bk R x 0.0
MO R 30 0 0 0 0 30 0.0 % %/ H % = 0.0
% i ¥7 30 0 0 0 0 30 0.0 % # Bk R x 0.0
[ A | 6 24 0 0 0 30 80.0 25 B ALV L Lo sk 20.0
Yy maan 4 10 19 1 0 0 30 66.7 2B E 2 Lo ok 17.5
£ 27 m A Ay 29 1 0 0 0 30 3.3 25 Bk M 0 B KK x 0.8
L1 FEFyy ¥ 30 0 0 0 0 30 0.0 25 Kk M 0 T ¥ * 0.0

E

i
of g g oh

=3

=

=

=

IR T, /MR BT T
PEARTT AT, IR ET

RSP T BECEAT, AREFET, EARAT, BT, A HEET EEI

EREH, AT RA L LET




| Y= re |

TR T, ISP TI IR A: 7/24-28

R R E 8 4 FEIEFR RS
Wi E 4 I R D
® OE M F & 0 6 0 0 0 6 100.0 # & 25.0 25.0
A4 E X NP 4 1 0 1 0 6 333 B E O OR ) 3.7 16.7
N X = M 4 2 0 0 0 6 333 F & O OR ) 2.0 8.3
A T ¥ 6 0 0 0 0 6 0.0 % &£ mW B x 0.0
AnTaatr v g3 2 4 0 0 0 6 66.7 & Bk R = 16.7

EX
| NI

I PRI AT E A 7/7-9

¥ B R B K TR R Ko
Wi # b 4 w0 oz ® oA LD nE Y
= <y ] 5 0 0 0 0 5 00 8 = % » & 0.0 0.0
v/ IS VA S G W 1 2 3 0 0 0 5 600 % = % ®m E 0.5 15.0
S AN 2 3 0 0 0 5 60.0 & % ®F £ % 2.0 15.0
VAR A N 2 2 1 0 0 5 60.0 FF £ B OR K 20.0
NIV EVAVE S0/ AN 0 4 1 0 0 5 100.0 % £ # R x 30.0
I A BN 3 5 0 0 0 0 5 0.0 % &£ H %K = 0.0

| 2 F |
PVERRRTN AT, A (LT A 7/7-9
R RR R ORI 5 5K AT

e = s HAEEE KW

= il VAN INZ

fﬁmﬂﬁ P .4 EP % % EID+ i};—%}(%) %‘ééﬁ@%%ﬁ(
P/ VAT S N 1 0 5 0 0 0 5 1000 % = % & E 1.2 25.0
TN F = 1 4 0 0 0 5 80.0 & ®E F %&£ % 2.2 20.0
VA AN 5 0 0 0 0 5 0.0 % 2 H R R x 0.0
SAH Y AES N A 4 1 0 0 0 5 20.0 H A& W R x 5.0
R A BN 5 0 0 0 0 5 0.0 % & Hm K =* 0.0




WP RATENT BEAENTRRA: 7/7-8

I AR B M 4% AR R R
i & 4 w0z ®oai LD nE Y
H 2 ] 7 0 0 0 0 7 0.0 % W ¥ R o) 0.0 0.0
" 6 0 0 0 0 6 0.0 % JH £ = ) 0.0 0.0
2 0K AW 6 1 0 0 0 7 14.3 O % 5% B 1.1 3.6
N X = H 7 0 0 0 0 7 0.0 % B #H £ ) 0.0 0.0
/S SN | 6 0 0 0 0 6 0.0 # F £ R ) 0.0 0.0
B * |
AT, D2 EWTEH, A LU 7/24
I AR R B M 4% AR R FE
i 5 b w0 oz oA LD nE Y
R s I3 5 0 0 0 0 5 0.0 Fr f§ ¥ JH = O 0.0 0.0
5 ¥ A Z R 3 0 1 1 0 5 40.0 % O R () 10.8 25.0
A O % O W 4 1 0 0 0 5 20.0 % OB R O 0.2 5.0
BA A v M 5 0 0 0 0 5 0.0 # F £ = ) 0.0 0.0
NEF)NB LY A 5 0 0 0 0 5 0.0 # & B £ x 0.0
TV araANT T hY 5 0 0 0 0 5 0.0 % & B £ x 0.0
AXRIETTH I 4 1 0 0 0 5 200 B F R £ x 5.0
A 7 ol 3 1 0 0 1 5 40.0 H F OE R x 25.0




(B %]

| BT A |
By T, EETIIRA: 7/8
7R R R M 4K A TR R R
5 Y A UK 9 0 0 0 0 9 0.0 ¥ i 3 R ® : 0.0 0.0
(I R T 9 0 0 0 0 9 0.0 % i H R ® 0.0 0.0
T 7 5 A v M 9 0 0 0 0 9 0.0 % £ W % % ® : 0.0 0.0
N A E v I bW 9 0 0 0 0 9 00 # & E 0.0 0.0
" 8 1 0 0 0 9 111 #% % B & @ 0.2 2.8
N F = M 3 4 1 1 0 9 66.7 HF E R W 11.4 25.0
NEANE - I N 4 5 0 0 0 9 55.6 % kR ) 5.2 13.9
" 3 3 3 0 0 9 66.7 WL E R OR ® 4.2 25.0
H fi ] 9 0 0 0 0 9 0.0 % # Bk R x 0.0
A VA S P AN 6 3 0 0 0 9 33.3 % W OB OE o« 8.3
FTigz i, SRR AR A 7/24
7R R R M 4K AR R R
5 o A I R D
5 Y AU 8 1 0 0 0 9 1.1 3% i % R o) 0.2 2.8
(I S G T 9 0 0 0 0 9 0.0 % 7 B R ® 0.0 0.0
T 7 5 A v M 9 0 0 0 0 9 0.0 % £ W % % ® : 0.0 0.0
N A E v I RY 8 1 0 0 0 9 1.1 #% %5 JE 0.2 2.8
NH = M 4 3 0 0 2 9 55.6 %k #E R ) 21.1 30.6
IFI%kquT Y I 3 6 0 0 0 9 66.7 #F E R 2.9 16.7
" 6 2 1 0 0 9 333 B E R R @® 2.2 11.1
#H ) ¥ 9 0 0 0 0 9 0.0 % W B F x 0.0
A YA S T AN] 8 1 0 0 0 9 1.1 % % #k R 2.8




T A 7/24

R R ORI 5 5K AT
e - A [ WEHEAE KV
= il VAN INZ

fﬁmﬂﬁ s .4 EP % % EID+ i};—%}(%) %EEO)’—F%“%(
% 7T Iv o< 5 0 0 0 0 5 0.0 # & ® 0.0 0.0
S NS 32 VN 0 0 3 1 1 5 100.0 # & E 28.1 65.0
vaeAf4FEy 3Ly 5 0 0 0 0 5 0.0 % /50 Bk (5H) : 0.0 0.0
2 BE 9 5 0 0 0 0 5 0.0 ¥ W E x 0.0

LKBAFS |
FEE T, PR TR : 7/23-24
& A RR B B 8 K FEAETRE Fe i+
. - A [ WAEEAE RV
== Ak 7> INZ]

Wﬂ_ = EZI iy 4 EF‘ % % IIIDI i}/%%z(%) %i@%{ﬁ
5 K A Z R 8 0 0 0 0 8 0.0 % J&F E R O 0.0 0.0
R x i 8 0 0 0 0 8 0.0 % W K £ x 0.0
£ B ¥ 8 0 0 0 0 8 0.0 % ¥ H F = 0.0
L) AR E LI FORERKD T,

hx1 + 2+ %£x3 + 4
AT — Xt PxS AEX Y X100

A S < 4



